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CDS EXAM(1):2018

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : SPSS-T-XHI Test Booklet Series

Seia N WA

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

o

M@

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DQ NOT write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

1) There are four alternatives for the answer to every question. For each question for which a wrong answer

has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

I e H1 E TR 39 giEh & fied g8 W e § |
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1. 57 4+5184 5194520 g divisible by

(a) 7
(b)) 9
(e 11
(d 13

2. If a + b = 2¢, then what is the value of

a+c?
a—-c¢c b-c

(@ -1
() 0
(c) | 1
d 2

3. Ifx=yl2 y=,lb and z = xV¢ where x # 1,

y# 1, z#1, then what is the value of abc ?

(a) -1
b 1
(@ . 0
(d 3

4, If 2b =a+c and y? = xz, then what is

b-c,c—a,a—b

X y z equal to ?

(a) 3
b) 2
© 1
@ -1
SPSS-T-XHI

(2-A)
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Which one of the following is correct ?

(a) Decimal expansion of a rational number
is terminating.

(b) Decimal expansion of a rational number
is non-terminating.

(¢) Decimal expansion of an irrational
number is terminating.

(d) Decimal expansion of- an irrational
number is = non-terminating and
non-repeating.

If the roots of the equation px? + x + r = 0 are
reciprocal to each other, then which one of the

following is correct ?

(@) p=2r
(b) p=r

() 2p=r
(d p=4r

If 65x — 33y = 97 and 33x — 65y = 1, then
what is xy equal to ?

(a) 2
(b) 3
(o -2
d -3

If E+E=1 and E+§=1, then what is
Al z a

iRy equal to ?
bx

(a 1
(b) 2
© 0
d -1




1. 51745184519, 520 forad fawsa 2 2
(a 7
(b) 9
() 11
@ 13
2. A a+b=2y A 2+ WA FN
a-c b-c
q?
@ -1
(b) 0
© 1
@ 2
3. A x=y"" y=zP Mz =xVTox=1,
y#1, z#1 ®, @ abc e TH FT 8 ?
(a) -1
(b 1
(0 O
(d 3
4. IR 2b=a+c M y2=xz 7, A
xP-cye-aza-b forme SOt R 2
(a) 3
(b)y 2
() 1
@ -1
SPSS-T-XHI
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fr=fofigad § @ ST ? 2

(a) URHT EEAT 1 YA TR Hid BT B |

(b) URHT G FI A TER GG BT
2

(c) AUNHT T&IT I YA YO Gid &l
2

(d) JUNHT &I H1 wHad YER !
3R 3ETEd] BT 2 |

afg T px? + x + r = 0 % A THGH *
gopd 8, df Fraferfea & & s ad 2 2

(a) p=2r
(b) p=r

(¢ 2p=r
(d p=4r

Ife 65x — 33y = 97 3 33x — 65y =1 ®, aI
xy Toreeh SUsT 8 ?

(a) 2
(b) 3
€ -2
d -3

?TE 3+%=1 3w §+§=1 %, ar abb+xxy
foperh sTe R 2

(a) 1

(b) 2

() 0

d =1

Latest Sarkari Jobs, Govt Exam Results




9. If aza— L 5, then what is the value of 18,
gas 0
ao
(a) 125
(b) —125
() 140
(d) -140
10. If x+y+z=0, then whatis
F+z-x3+@z+x-y)® + (x+y-2)° equal 14
to ?
(@) E+y+12)?°
(b) 3(x+y)(y+z)(z+x)
() 24xyz
(d) -24xyz
11. If (x + 3) is a factor of x° + 3x2 + 4x + k, then
what is the value of k ?
(a) 12
) 24 15.
(c) 36
(d). 72
12. The smallest integer with 4 digits which is a
perfect square is
(a) 1000
(b) 1024
() 1089
(d) None of the above
SPSS-T-XHI (4-A)

Which one of the following is a zero of the
polynomial 3x3 + 4x2—7 ?

(@ o0
b 1
() 2
@ -1

There are two numbers which are greater
than 21 and their LCM and HCF are 3003 and
21 respectively. What is the sum of these

numbers ?
(a) 504
(b) 508
(c) 514
(d 528

If o and [5 are the roots of the equation
ax? +bx + ¢ = 0, then what is the value of the

expression (o + 1) (B +1)?

@) a+b+ec
a

(b) bt+tc-a
a

a—-b+c

(c) P Tt

@ a+b-c
a
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10.

11.

12.

SPSS-T-XHI

afe

ST HHE T 8 ?

2
a —1=5%,'6ﬁ
a .

a® -1
a3

(a) 125

(b) —125
(¢) 140

(d) -140

?ﬂ? Xx+y+z=0 %,Fﬁ
+z-xP+@EZ+x-y°3 +x+y-12)°
g st g 2

(a)
(b)

(x+y+2z)°
3x+y)(y+2) (z+x)
(c) 24xyz

(d) —24xyz

Ife (x +3), x3 + 3x2 + 4x + k F Th HEE 3,
A kT HE 18 ?

(a) 12
(b)y 24
(c) 36

(d 72

4 3T F1 GE@ B QUIleh S Th qui e off B,

fafafea 4 w8 2
(a) 1000
(b) 1024

(¢c) 1089

@ I9IE F @ B TG

Vacancies and updates on one click

13.

14.

15.

TgIG 3x° + 4x% — 7 1 I, ffafga # @
HHATR ? ‘

(a) 0
() 1
() 2
(d | -1

UHl @ Tt § S 21§ 99§ 3R 3% LCM
3R HCF A 3003 3R 218 | 37 G&A1=A i
AT AT R 2

(a) 504
(b) 508
(c) 514
(d) 528

aﬁaSﬁ'{BﬂtﬁWaXZ+bx+c=0a§T@§,

Al S (o + 1) (B + 1) T | T 8 2

a+b+ec
(a) -
b+c—-a
b
(b) G
a-b+c
(c) .
@ a+b-c
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16. The remainder when 3x% + kx? + 5x — 6 is[20. The sum of a number and its square ‘is 20.

divided by (x + 1) is — 7. What is the value of Then the number is
= (a) -5o0r4
S (b) 2o0r3
(b) 14
(¢) —5only
() -7
(d 5or-4
@ 7

21. If the price of wheat rises by 25%, then by how

17. 1If f(x) and g(x) are polynomials of degree p
: much percent must a man reduce his
and q respectively, then the degree of
o . consumption in order to keep his budget the
{flx) £ g(x)} (if it is non-zero) is

same as before ?
(a) Greater than min(p, q)

(a) 15%
(b) Greater than max(p, q)
(¢) Less than or equal to max(p, q) ®) j 20%
@  Equal to min(p, q) © 25%
(d 30%
18. What s the value of ﬁ“g-;+ﬁ? !
15 Ao 22. = of the students who registered did mnot
-241
(a? V15 appear for the examination, %% of those who
(b) 2415 :
appeared passed. If the number of registered
(© 15
students is 2000, the number who passed is
@ -+15
(a) 1920
19. What is the value of () 1056
- a7 - i ) 1020
1+xP-24+x¢-2  14xa-b yc-b (e
1 (d 864

where k207 23. What is the difference between 0-9 and 0-9 ?

(a) -1 (a) O

b 0 (b) 0099

@ 1 | © 01

@ 3 d 009
SPSS-T-XHI | (6-A)
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16. 99 3x® + kx2 + 5x — 6 H (x + 1) ° wrT feam|20. Wk G&Ar 31 39k 1 1 INTHA 203 | 1 98
JA A —7UT SEAT g | khl HH 18 ? T 8
(a) -14 (a) -—-53AYAT4
(b) 14 (b) 2313
) -7 : () HaA-5
@ 7 (@) 53T -4
(fx) + g} (A 78 W 2) S s s § Fred e B
(a) min(p, q)@ﬁ@ﬁ
055 conatp, @) a S1fET, dIfeh IHHT T9ie Tget &1 & o1 @ 2
(¢) max(p, q) % ST IT 36H HH (a) 15%
(d) min(p, q) % TR (b) 20%
() 25%
J5-J3 J5+43
18. - T HE FT 8 ?
5+43 J5-13 2 @ 30%
(a) -2415 22.@@@%%@%%@3@@
11
b) 2415 gq,sﬁm@agqmz—oﬁﬂvfgqlaﬁ
© 5 Usfishd BT Y T@AT 2000 7, A I B 1A
BET S e fhadl 8 2
d -15
(a) 1920
19. b—:.- c—a ¥ 1 a—l} c—b L - =
1+x. + X +X + X © 1020
1
1+Xa_c+xb_c (d) 864
&l x# 08, T A T8 ? _ ,
23. 0-9 3 0-9% SI= 4T 37T & ?
(a) -1
(a) O
b) 0
(M)  0-099
@ 1 (e) 01
@ 8 @ 009
SPSS-T-XHI (7. —A)
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24, If'A:B=1:2, B:C=3:4, C:D=2:3|28.
and D:E=3:4, then whatis B : E equal to ?
(a) 3:2
(b) 1:8
(e) 328
(d 431
25. A work when done by 10 women is completed
in 12 days. The same work can be completed
in 8 days when done by 5 men. How many
days will it take to complete when 6 women 29.
and 3 men are employed to perform the same
job ?
(a) 12
(b) 10
(c) 8
d 5
26. A man undertakes to do a certain work in
150 days. He employs 200 men. He finds that
only a quarter of the work is done in 50 days.
How many additional men should he employ
so that the whole work is finished in time ?
(a) 175
b 8 39
(¢) 100
(d) 120
27. A train moving with a speed of 60 km per hour
crosses an electric pole in 30 seconds. What is
the length of the train in metres ?
(a) 300
(b) 400
() 500
(d 600
SPSS-T-XHI (8—-A)

T 120 is distributed among A, B and C so that
A’s share is T 20 more than B’s and ¥ 20 less
than C’s. What is B’s share ?

(a) <10
(b) =T 15
(@@ T2
(d <T25

In the following table of inverse variation,
what are the values of A, B and C

respectively ?

M 15

N -4 A B 60

(a) 10,-30,-1
(b) 10,-1,30
() -30,10,-1

(d -1,-30,10

A person borrowed ¥ 5,000 at 5% rate of
interest per annum and immediately lent it at
5:5%. After two years he collected the amount
and settled his loan. What is the amount

gained by him in this transaction ?

(@)-' . 25
(b) T 50
(e) T 100
(d <200
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217.

25.

26.

SPSS-T-XHI

e

24, T A:B=1:2, B:C=83:4, C:D=2:38

M D:E=3:48, 9 B: E froesh st 2 2
(a)
(b)
(c)
(d)

i
=~ 0 0 N

T H B S 10 NG Hd E o 98 12 e A
qU B I | 3E B T 5 IMeH A 7
ot g 8 for & g & wmar @ | SE R W FA
% fou 59 6 3@ 3 3 et @e S #, @
30 QU B8R | fohaw T @i 2

(a) 12

() 10

(e 8

@ 5

ws =afh fohedt R #1650 A 7 @@ #
ISR Ad1 8 | 98 200 e e &
R | 38 var woar @ f6 50 Tt ® 3@ @
Fad THAAE & [ A T 7 | I TR
% T ¥ @A 8 I ?

(a) 75

(b) 85

(¢) 100

@ 120

60 km Sftr w2 A fq & Tt T T QTS
T fagd @ I 30 AHUS H IR H A 2 |
el hi s, Hie § o @ 2

(a) 300

(b) 400

() 500

d 600

(9-A)

29.

30.

28. A,B3IN CH T 12039 ISR &1 od & % A

T A B W F T 20 31ferep B 3 CFH 37

YT 20FTE | BH IV TR ?
(a) T10
(b) T15
(© T20

d <T25

epr oo <t Fr=fafaa amoft 4, A, B ok
C % SHUYT: HH &7 & ?

15 -6 2 C
N -4 A B 60
(a) 10,-30,-1
(b) 10,-1,30
(¢0 -30,10,-1
(d -1,-30,10

Tk Ffth 3 5% 9fd 99 6l =I W T 5,000
3yR fou 3 @ & 55% Hi T W IR ¢
feu | 31 a¥ e IEA HA 99E ot R AT
W9l g1 o1 | 3@ T | 39 foralt ety
T AT g 2

(a) T25
(b) T 50
(¢) T100

(d) ¥ 200
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31.

32.

33.

34.

At present the average of the ages of a father | 35.
and a son is 25 years. After seven years the
son will be 17 years old. What will be the age
of the father after 10 years ?

(a) 44 years
(b) 45 years
(¢) 50 years
(d) 52years

36.
If 5 tractors can plough 5 hectares of land in

5 days, then what is the number of tractors
required to plough 100 hectares in 50 days ?
(a) 100

(b) 20

() 10

(d 5 o

A merchant commences with a certain capital
and gains annually at the rate of 25%. At the
end of 3 years he has ¥ 10,000. What is the

original amount that the merchant invested ?
(a) < 5,120
(b) ¥ 5,210
(¢) 5,350
(d < 5,500
38.

Which one of the following decimal numbers is

a rational number with denominator 37 ?
(a) 0-459459459 ...

(b) 0-459459459

() 0-0459459459. ..

(d) 0-00459459. ..

SPSS-T-XHI (10-A)
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The annual income of a person decreases by
T 64 if the annual rate of interest decreases
from 4% to 3:75%. What is his original annual

income ?

(a) ¥ 24,000
(b) T 25,000
() ¥ 25,600
(d) < 24,600

For 0 < m < 1, which one of the following is
correct ? .

2 1

(@) ' log;ym<m“<m<m"”

-1 2
(b) m<m™ <m“<log,,m
() logym<m< m! < m?
(d) log;ym< m! <m < m?

A gentleman left a sum of T 39,000 to be
distributed after his death among his widow,
five sons and four daughters. If each son
receives 3 times as much as a daughter
receives, and each daughter receives twice as
much as their mother receives, then what is
the widow’s share ?

(a) ¥ 1,000
(b) ¥ 1,200
(¢0 ¥ 1,500

(d) None of the above

Three numbers which are co-prime to each
other, are such that the product of the first
two is 286 and that of the last two is 770.
What is the sum of the three numbers ?

(a) 85
(b) 80
() 175
(d 70

N




31.

32.

33.

34.

SPSS-T-XHI

gaaE § TH fUar R gm il Ag w1 fEd
2594 8 | 9@ 99 91g YA 17 99 1 B ST |
10 9§ 1g foram Y o1y o BT 2

(a) 4479

(b) 4599

(¢ 509

@ 52y

Ife 5 3%, 5 eFeH it 1 5 fe & Saa &, @
100 ¥ 1 50 At # Fav & fog fomem
IF S ATEIIRAT BT 2

(a) 100

(b) 20

(). 10

@ 5

T A Tk AT GOt & yeeTa et @ o
25% H W ¥ I N U Hal B |
394 % 37 § IGh U@ T 10,000 B § |
ST % R @IS T8 TRAYR T 1 ] 2
(a) ¥ 5,120

(b) ¥ 5,210

) ¥ 5,350

(d <¥5,500

frfafaa symee demet § 8 98 9fe T
-t 3 e s 378 2

(a) 0-459459459 . . .

(b) 0459459459

(©  0-0459459459 . . .

(d)  0-00459459 . ..

35.

36.

37.

38.

&Y

Ife aiffes =A@ 4% © =EH 3-75% &l STl
2, d1 U oafth <l I M T 64 H ATl
2 | U A anfiieh T T B 2

(a) ¥ 24,000
(b) ¥ 25,000
(e) ¥ 25,600
(d) T 24,600

0<m<1a§f\a‘l,ﬁ1=l'%1ﬁ§ﬁﬁﬁaﬁ:{-mﬂ'§[
27?

(a) “

1

log;pm <m®<m<m”

1

(b) m<ml<m?< log,, m

1 2

() logipgm<m<m™ <m

(d) 1 2

logjym<m™ <m<m

UH e 4 T 39,000 v WL, @
3Gh! g o UvETd ITeh! fagan, uie gAi ok
=R goEi § dfer S 2 | Ay g W gl
& & #1 3 T faerar 7, SRy Gt @l
I7h! A % o8 1 g e @, a@ fawan @
w2 2

(a) ¥ 1,000
(b) < 1,200
(c) T 1,500
(d) 9 A F HIg T&

T T S UHh-gE @ ITHENTS 7, 39 THR
& T ugelt & =1 UFEHe 286 3R 3ifaw @ W
MG 770 B | A TSt &1 AT T
2?

(a) 85
(b) 80
(e) 175
(d 70
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39. The age of a woman is a two-digit integer. On |42.
reversing this integer, the new integer is the
age of her husband who is elder to her. The
difference between their ages is one-eleventh
of their sum. What is the difference between
their ages ?
(a) 8years
(b) 9years
(¢) 10 years
(d) 11 years
43.
40. A passenger train and a goods train are
running in the same direction on parallel
railway tracks. If the passenger train now
takes three times as long to pass the goods
train, as when they are running in opposite
directions, then what is the ratio of the speed
of the passenger train to that of the goods
train ? 44.
(Assume that the trains run at uniform speeds)
(@ 2:1
b)) 3:2
(¢) 4:3
d 1:1
45,
41. All odd prime numbers upto 110 are
multiplied together. What is the unit digit in
this product ?
(a) O
(b)) 3
() 5
(d None of the above
SPSS-T-XHI (12-A)

An alloy A contains two elements, copper and
tin in the ratio of 2 : 3, whereas an alloy B
contains the same elements in the ratio of
3 : 4. If 20 kg of alloy A, 28 kg of alloy B and
some more pure copper are mixed to form a
third alloy C which now contains copper and
tin in the ratio of 6 : 7, then what is the
quantity of pure copper mixed in the alloy C ?

(a) 3kg
(b) 4kg
() b5kg
d T7kg

A quadratic polynomial ax? + bx + c is such
that when it is divided by %, (x — 1) and (x + 1),
the remainders are 3, 6 and 4 respectively.

What is the value of (a + b) ?
(a) 3

(b) 2

fey 1

@ -1

If the average of 9 consecutive positive
integers is 55, then what is the largest

integer ?
(a) 57
(b) 58
() 59
(d 60

The average of the ages of 15 students in a
class is 19 years. When 5 new students are
admitted to the class, the average age of the
class becomes 185 years. What is the average
age of the 5 newly admitted students ?

(a) 17 years
(b) 175 years
(¢) 18 years
(d) 185 years

Latest Sarkari Jobs, Govt Exam Results
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39.

40.

41.

SPSS-T-XHI

T Afee i 371 & k! B TH QUi & | 39
quifh % T HT TIM TG of W, T UM
g% gfa, St f 5@ w8 g, &t g = Frn
R | ST Y T HA, IThT A & AT B
e e & | I Y HI A FT R 2

(a) 89
(b) 9ad
(¢ 1099

@ 1198

TH gaR ME N TH WS T & feEn #
FHTA IGERT WS @ & | At 9 fawda fesn 4
ST & Bl At Far e, AerEl S U’ i °
S GE Adt, ST A AT g9T 98 IE At
? | 5w 9 g fawn § o1 @ ¥, @ e e
1 T b1 ATeTTE i T A ST FT R 2

(v <fifs fop mifsat weramm wfa & werdt §)
@ 2:1
(b) 3:2
() 4:3

d 1:1

110 9o < &ft faum v TEnst % s
Yy TN R ST R | $9 UM% H $hTS I
37 FAT 8 2

(a) O
(b) 3
(0 5

@ 399§ G H1S TE

42.

43.

44.

(13-A)

fopeft farrg AT @ aa Al R &7 2:3%
s § 7, Safe foreft o famarg B 7 @
T 3:4% U@ H & | ARG 20 ke fazrg A,
28 kg fisramg B, aen $© MR 31y yg dld H
firetmet b el fageag ¢ s ¢ R, fod
dfem 3R o1 6: 7 U@ &, @ fazurg ¢ ®
firetme MU 31t Y AT R R 2

(a) 3kg

(b) 4kg

(¢ 5kg

(d Tkg

w fETh 959G ax® + bx + ¢ 39 YHR 2 i 5@
W x, (x—1) M (x+ 1)@ fowrfoa foren s 2,
A AYh HAT: 3,6 AN 4 WA B | (a+b) H
T T 81 2

(a) 3

b) 2

e 1

@ -1

Ife 9 SHATTA ©FTeHe qUithl o1 3itEd 55 8, I
e w1 QUi T B ?

(a) 57

(b) 58

(¢0 59

@ 60

. Ush el % 15 DT hi Y T 37d 1999 2 |

S« HT W 5 AU BET I JAw eI S 8, @
HefT 1 N|d 1Y 185 I¥ & Wt 7§ | uferse
FU 57T BE I Fd Y FAT @ ?

(a) 1794

(b) 17-5a

(¢ 189§

(d 1854
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46.

A:man can row at a speed of x km/hr in still

water. If in a stream which is flowing at a
speed of y km/hr it takes him z hours to row to
a place and back, then what is the distance
between the two places ?
oEE g
(@) z(x“ —-y“)
2y
2 2
z(x“—-y“)
b o A
(b) o
2 _ 2
(@ X =)
2zx
2 2
@ =z x“-y“)
X
47. A water tank has been fitted with two taps P
and Q and a drain pipe R. Taps P and Q fill at
the rate of 12 litres per minute and 10 litres
per minute respectively.

Consider the following statements S1, S2 and

S3 :

S1: Pipe R drains out at the rate of 6 litres
per minute.

S2:  If both the taps and the drain pipe are
opened simultaneously, then the tank is
filled in 5 hours 45 minutes.

S3: Pipe R drains out (fully) the filled tank
in 15 hours 20 minutes.

To know what is the capacity of the tank,

which one of the following is correct ?

(a)  S2is only sufficient

(b) S1, S2 and S3 are necessary

(¢) Any two out of S1, S2 and S3 are

sufficient

(d) None of the above

SPSS-T-XHI

48.

49.

(14-A)
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A car has an average speed of 60 km per hour
while going from Delhi to Agra and has an
average speed of y km per hour while
returning to Delhi from Agra (by travelling
the same distance). If the average speed of the

car for the whole journey is 48 km per hour,

then what is the value of y ?
(a) 30 km per hour
(b) 35 km per hour
(¢) 40 km per hour

(d) 45 km per hour

An article is sold at a profit of 32%. If the cost
price is increased by 20% and the sale price

remains the same, then the profit percentage

becomes

(a) 10%
(b) 12%
() 15%
(d 20%




46. TH ANk 3w gL I H x Tt /uer H =1 |

T @ HRAT ® | A TH oUW (FE), S
yrft/faanHinfc g @ R, § & wE |
forelt gt TIW 9% 9@ " 9H 3R A 3
(Se) ® 39 =Afh H 2 69 TG &, A GHI
TIHI % S R gh AR 2

(@) z(x2 - y2)
. —2y

z(x2 —y?)
(b) o

(X2 _ y2)
27X

(c)

z (X2 _ y2)
X

(d)

47. U FI TH TH T Y A9 P 3R Q I TH

Frepra 7eft R fhe it 18 B | 7@ P 3R Q wH

1 Th Sl HES: 12 wieT afd fime 3tk 10 X

yfd e A a wd § |

3@ g # ffafea wert s1, s2 ot 83 W

fomm hifv

S1: 9t R, 6 &fleX ufd e i = & ur
freepifera et B |

S2: At SF e o frwm el ® T Ay
@ e wmar B, @ 5 W 45 fie § T
oS R |

S3: Feft R Wil 8% < HI 15 6 20 fie § g
TE | @reft L ol 3 |

Th A gmar SR & fow, fEfafea @ @

HI-91 TE B ?

(a) had S2 ¥ wAd 8

(b) S1,S2 3 S3 AETIF &

(¢) S1,S23M 83 & 18 off g vt &

(d) 394§ ¥ IS TR

SPSS-T-XHI

48. feoch @ s SM arelt Wk wR I Ea i

49.

(15-A)

60 forift wfa =er B 3R o @ fioeft amum
A gAY U IftEa nifd y fedt wfa ser R
(T g0 7 W) | 9 Yol ann § R A
3fted i 48 foprdt 9 wer &, d y 1 7
27

(a) 30 Terdl ufa =1
(b) 35 ot wfq =
(© 40 Tl ufa wrer |
@ 45 ffl f wr

T I HI 32% AT W = A & | AfG AR

T 20% S¢ Wl & 3 fosha geg od @ g,
At ey <t feraar fohat 2 St @ 2

(a) 10%
(b) 12%
(0 15%

(d) 20%
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50. A, B, C, D and E start a partnership firm. |52.
Capital contributed by A is three times that
contributed by D. E contributes half of A’s
contribution, B contributes one-third of E’s
contribution and C contributes two-third of A’s
contribution. If the difference between the
combined shares of A, D and E and the
combined shares of B and C in the total profit
of the firm is ¥ 13,500, what is the combined
share of B, C and E ? (The shares are
supposed to be proportional to the
contributions)

(a) ¥ 13,500 153.
(b) ¥ 18,000
(e) T19,750
(d) ¥ 20,250
51. A Pie Chart is drawn for the following data :
Sector Percentage
Agriculture and Rural
12-9
Development
Irrigation 12-5°
Energy 27-2
Industry and Minerals 15-4
Transport and
C SHE 159
ommunication 54.
Social Services 16-1
What is the angle (approximately) subtended
by the Social Services Sector at the centre of
the circle ?
(a) 45°
(b) 46°
(¢) 58°
(d) 98°
SPSS-T-XHI (16 -A)

The

The arithmetic mean of two numbers is 10 and

their geometric mean is 8. What are the two

numbers ?
(a) 15,5
(b) 12,8
(¢) 16,4
(d 18,2

The arithmetic mean of 11 observations is 11.

arithmetic mean of the first 6
observations is 10-5 and the arithmetic mean
of the last 6 observations is 11:5. What is the

sixth observation ?

(a) 100
(b) 105
(ey 110
(@ 116

What is sin® 6 — cos* 6 equal to for any real

number 6 ?

(a) 1

(b)  1-2sin6
() 2cos?6+1

(d 1-2cos?0
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50. A, B, C, D 3iR E U ARGl B4 & & 8 |
AR @g T8 Yofl, DGR &g T St oAl i | -
TAT R | E T 3WCH, A% AWCH HT 4T &,

B 1 319CH, E & 3IWEH o1 Th-agis 8, 3R
C %1 3EH, A % IFEH &I q-fders 3 | Al
% % o o #, A, D 3 E % GgFa T
9T B 3R C & TgFa g #1 3’ T 13,500
?, @ B, C 3 E %1 §gea fewmn foban 2 2
(feedt, STwreHl < FWHIE § 7 W1 ¥)

(a) ¥ 13,500

(b) ¥ 18,000 -
(© 19,750

d 20,250

51. Ffafea fesi & fou gon@ (W =©)

ST TR
&7 ylaerer
FY AR anfior fasmm 129
&= 12:5
el 27-2
ECIUEC ECIEE 154
aiEE 3R =) 159 -
qrTorR AT 161
qrToes A3t % 99 @ (8) g 99 $ heg
formg W afta s (T e @ 2
(a) 45°
(b) 46°
(c) 58°
(&) 98°
SPSS-T-XHI (17-A)

52. T HEATSA 1 THIGL HILT 10 7 3 I U

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

oed 88 | ST T HH-H § 2

(a) 15,5
(b) 12,8
(e) 16,4
(d 18,2

11 Yol =1 GHIR WEF 118 | TREE (5)
6 VLT =T GHIGL HIET 10-5 3 31 3ifaw 6 Agruny
T THIG H1ET 1158 | D31 &0 =7 8 2

(a) 100
(b) 10-5
() 110
(d 115

ferelt areafass = 0 & %l'Q sin®0 — cos?0
foraesh s 8 2

(a) 1

(b) 1-2sin%6
() 2cos?6+1
(d 1-2cos?6




55. What is cot 1° cot 23° cot 45° cot 67° cot 89°|58.
equal to ?
(@ O
(b) 1
©
@ <
56. What angle does the hour hand. of a clock
describe in 10 minutes of time ?
59.
(a) 1°
(b) 5°
(e) . 62
@ 10°
57. Consider the following statements :
1. (sec?6-1)(1—cosec?0) =1
2. sin®(1+cos08) !+ (1+cos0)(sinB)l=
2 cosec 0
Which of the above is/are correct ? 60.
(a) 1only
(b) 2only
(¢) Both1land?2
(d) Neither 1 nor 2
SPSS-T-XHI (18—A)

Each side of a square subtends an angle of 60°
at the tip of a tower of height h metres
standing at the centre of the square. If  is the
length of each side of the square, then what is
h2 equal to ?

(a) 212

(b): . —

(c) —

() "=

From a height of h units, a man observes the
angle of elevation as a and angle of depression
as B of the top and the bottom respectively of
a tower of height H (> 4h). To what further
height should he climb so that the values of
angle of elevation and angle of depression get
interchanged for the top and bottom of the

tower ?

(a) H-h units
(b) H-—2h units
(¢) H-3h units
(d) H - 4h units

If secx cosecx =2, then what is

tan™ x + cot® x equal to ?

(a) 2
) g
(e 2¢
@y o=
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55.

56.

57.

SPSS-T-XHI

cot 1° cot 23° cot 45° cot 67° cot 89° TohEeh
T F 2

(@ 0

b 1

(c)

DO | =

(d)

o | =

et ut i we H gE, T F 10 e #,
fopa feaft =1 =hioT STl & 2

(a) 1°

(b) 5°

© 6°

(d 10°

frafafga st w fa=m Hifse .
1. (sec2B—1)(1—cosec?0) =1

2. sin®(1+cos® 1+ (1+cos0)(sin0) =

2 cosec O

I | | HH-A1/H TE 2/7 2
(a) ad 1

(b) HadA 2

(¢ 13 2gHt

@ AALAR2
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58. Toret @t it I g, 3| 9 & g W o

59.

60.

h HeX F Fu1E 9 Th TR F MY (RR) =
60° T IVl AaRa Hdl & | Al a7t i y2AF
o Y TS 7 R, A h? foheeh st R 2

(a) 212

b) —
(0 —

(d)

h $6E # H913 ¥ UH Afed @@ & b
H (>4 h) 3918 91 Teh /e o ¥ 3 aaF 1
U IAAT DIV o 3R FETHT HIT BB | A
3R fohamm = =g =nfy, arfsh TreR &
ot ST ae % T B SN S B b
" Jdsed &l g ?

(a)
(b)

H - h units
H — 2h units
(¢ H - 3h units

(d) H - 4h units

?Tﬁ sec X cosec X = 2 %, dl tan®x + cot®x

foreesr s B 2

(a) 2
(b 2ot
() 2°
@ 2t
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61. If cosx+cos?x =1, then whatis 65. ABC is a triangle right angled at C with
sin?x + sin x equal to ? BC = a and AC = b. If p is the length of the
s | perpendicular from C on AB, then which one
o) 15 of the following is correct ?
© 2 (a) a?b?=p?(a%+b?
d 3 (b) a?b?=p?(h%-a?

() 2a2b%2=p2(a%+b?)

62. Ifsin A +cos A =p and sin® A + cos® A = q,
(d a?b%=2p%(a?+b?)

then which one of the following is correct ?

3
(@) p°-3p+q=0 66. The radius and slant height of a right circular
() q®>-3q+2p =0 cone are 5 cm and 13 cm respectively. What is
(0 p>-3p+2q=0 the volume of the cone ?
(d p>+3p+2q=0 (a) 1007 cm?
T (b) 50 cm?
63. If x= sec26——tane , then which one of the (¢) 65mcemd
sec” 0 + tan0
following is correct ? (d 1697m cm?®
(a) e <x<3 : : .
3 67. Two equal circular regions of greatest possible
2 area are cut off from a given circular sheet of
(b) xg|=,3
' area A. What is the remaining area of the
(c) —3<x<—l . sheet ?
2
d % <x<3 i
(b) A/3
64. ABC is a right angled triangle with base BC (¢ 3A/5
and height AB. The hypotenuse AC is four d) 2A/5

times the length of the perpendicular drawn to
it from the opposite vertex. What is tan C|68. If the ratio of the radius of the base of a right

equal to ? circular cone to its slant height is 1 : 3, what is
the ratio of the total surface area to the curved

(a) 2-43
surface area ?

b) J3-1 (a) 5:3

() 2+ 43 W Bl
() 4:1

SPSS-T-XHI (20-A)
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61.

62.

63.

64.

SPSS-T-XHI

'ﬂﬁ cos X + cos? x = 1%, al sin? x + sin? x
fopEeh s 2 2

(a 1

(b) 15

() 2

(d 3

foasinA+cosA=p3'-ﬁ'{ sin3A+cos3A=q%,
a1 frfafea & & s w8 2 2

(a p®-3p+q=0

b q®>-3q+2p =0

(0 p®-3p+2q=0

(d p*+3p+2q=0

aft x o SecP0-tand & & potepen §

sec? 0 +tan 0
91 TE ® ?

l<x<3
3

(a)
1
b =, 3
(b) xz[s,}
1
(c) —3<x<—§

<x<3

(d)

|-

ABC T e Brge @ fSrmesr emar BC 3R
a5 AB ? | %01 AC I wd, wrgE I @
30 W G T o i T f TR R
tancmw%?

(a) 2-+3
(b) J3-1
© 2+43

@ J3+1

65.

66.

67.

68.

(21 -A)

ABC T fys & St ¢ W @e=hivfim B, @t
BC=a3M AC=b? | I CH AB W T IH
e @ h e p B, @ F=Afafed & @
FHET S B ? ‘
(a) a’b?=p?(a%+b?)
b) a’b?=p2(b%-a?)
(¢) 2a%b%=p?(a®+b?
(d) a?b?=2p?(a+b?

ferelt degeia v B B ot Rt Semd
A 5 cm 3 13 em B | WS I ARAA fohaa
22

(a) 100w cm?

(b)  50m cm3

(¢) 65mcm®

(d) 1697 cm?®

A el aTell IR T e (Fed W)
U9 &I%A & q FUS JF &F HE I 2 |

TTeT T AT ST FIT & ?
(a) A/2

(b) A/3

(0 3A/5

(d 2A/5

Ife wh we-gHE WF b MER H B wH
et fonedt S F U 1: 3 R, @ FA
TS &Ahe T I TS &F%A § ITIIE w1
27

(a) 5:3

(b)

(c)

()
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69. A right circular cone is sliced into a smaller |72,
cone and a frustum of a cone by a plane
perpendicular to its axis. The volume of the
smaller cone and the frustum of the cone are
in the ratio 64 : 61. Then their curved surface
areas are in the ratio
(a) 4:1
(b) 16:9
(¢) 64:61
(d 81:64

70. In a room whose floor is a square of side 10 m,
an equilateral triangular table of side 2 m is
placed. @ Four  book-shelves of size| 'S
4m x 1m x 9m are also placed in the room.

If half of the rest of the area in the room is to

be carpeted at the rate of ¥ 100 per square
metre, what is the cost of carpeting
(approximately) ?

(a) T 17,600

(b) < 5,635

(¢ T 4,113 4.
(d < 3,200

71. A region of area A bounded by a circle C is
divided into n regions, each of area A/n, by
drawing circles of radii Iy, Ty, Ty, ... T, 4 Such
that r; <1y < ry <. r , concentric with the

T,
circle C. If P = o where m = 1, 2, 3, ...
m 75.
(n — 2), then which one of the following is
correct ?
(a) pincreases as m increases
(b) pdecreases as m increases
(¢) premains constant as m increases
(d) p increases for some values of m as m
increases and then decreases thereafter
SPSS-T-XHI (22-A)

What is the volume of a cone of maximum
volume cut out from a cube of edge 2a such

that their bases are on the same plane ?

(@) mal
o =
(c) 2%:-3—
@ 3":3

The radii of two circles are 45 cm and 35 cm
respectively. The distance between the centres
of the circles is 10 cm. What is the length of

the transverse common tangent ?

(a) 4cm
(b) 5ecm
(¢) 6cm
(d 7cm

There are as many square centimetres in the
surface area of a sphere as there are cubic

centimetres in its volume. What is the radius

of the sphere ?
(a) 4cm
(b) 3ecm
(¢) 2cm
(d 1lcm

The length of a line segment AB is 2 cm. It is
divided into two parts at a point C such that
AC? = AB x CB. What is the length of CB ?

(a) 3+v5cm

® 3-+5cm
() 543 cm
(d J5-1lcm

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




69. T G- WP I, Iqeh AH W A«aq. Th
qd & g, T B AP AR P j
HTeT ST 2 | Bl AP A WP
AT 64 : 61 % I H B |
TS &he fohdt argaTa | 8 2
(a) 4:1
(b) 16:9
(c) 64:61
(d 81:64

foreft e H, fraert %31 10 m ¥[ST ATeN T
2, 2 m Yo a1l U wwerg B a9 @l
2 I HT H4mx1mx9mb AR &
geaehl 1 TR remiiEr ot wht w8 # | Afg wa
% Shl 99 &9 % Y W H T wiefA fowrn
ST 8 el @ T 100 ufg ot e B, a1
SHIA TEM 61 JeI () fohaT 8 2

(a)
(b)
(c)

(d)

g9 C ¥ ufEg, A &% Il TH &F Al n
wuel # e foram mam R, ety @ve |
FIhA A/n B | $EH AT ry, Tg, T3 . Tpg
Brenail el ¢ ¥ Hehgl 99 39 YR ST T &

%r1<r2<r3<...rn_1% Iaﬁpm= =
m

B m=1,23,.. (-2 %, da f=fafea & &
FIT TE R 2

(a) md S & U p off wear B

(b) m Al g @l p HedT B

(c) mgd 3l p 3= (fR) war 8

(d) & m S&d & 1 35 $S AHI » ¢ p
EdT & 31K 3G 918 g2 o @

72.

¥ fous o
% fous &
|

70.

73.

¥ 7,600
¥ 5,635
T 4,113

T 3,200
74.

71.

Tm+1

75.

SPSS-T-XHI

(23-A)

2a HR I T Hl HRH TH VH 39 TR
T TR FF MR E A aa H B, @
T YHR §H b+ ATt VG I ATUHaH ATIH
T I ?

(a)

(b)
(e)

(d)

3 gt At Bead AN 45 cm 3R 35 em B |
Il % HGl o S Hl g 10 cm 7 | ITITEYS

TS TaRi@T hit TS T R 2
(a) 4cm
(b) 5cm
(c) 6cm
(d 7cm

o T g dw § I & o e
$ frt 5 3o ot i T A § |

RO wRTR?
(a) 4cm
(b) 3cm
() 2cm
(d 1l1lcm

Th 1@1-@UE ABH e 2cm R | Fig e Q@
i # 39 yer fawila s g 6
AC2=ABxCB? | 99 CB hl =TS o1 8 ?
(a) 3+vJ5cm

b 3-+5cm

() 5+v3cm

@ J5-1lcm
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76. The locus of the mid-points of the radii of|80.
length 16 cm of a circle is
(a) A concentric circle of radius 8 cm
(b) A concentric circle of radius 16 cm
(¢)  The diameter of the circle
(d) A straight line passing through the
centre of the circle
77. The curved surface area of a right circular
cone is 176 m? and its base diameter is
140 cm. What is the height of the cone ?
(a) 10cm
(b) 1042 cm
(¢) 20v2em
(d 10415 cm
L 3 81.
78. Consider the following statements :
1. The orthocentre of a triangle always lies
inside the triangle.
2.  The centroid of a triangle always lies
4 inside the triangle.
3. The orthocentre of a right angled
triangle lies on the triangle.
4. The centroid of a right angled triangle
lies on the triangle.
Which of the above statements are correct ?
(@) 1land2
(b) 1land4
(¢) 2and3
(d 2and4
79. The locus of a point equidistant from two
intersecting lines is 82.
(a) A straight line
(b)  Acircle
(¢) A pair of straight lines
(d) None of the above
SPSS-T-XHI (24-A)
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Consider the following statements :

Two triangles are said to be congruent, if

1. Three angles of one triangle are equal to
the corresponding three angles of the
other triangle.

2. Three sides of one triangle are equal to
the corresponding three sides of the
other triangle,

3.  Two sides and the included angle of one

; triangle are equal to the corresponding
two sides and the included ‘angle of the
other triangle. -

4, Two angles and the included side of one
triangle are equal to the corresponding
two angles and the included side of the
other triangle.

Which of the above statements are correct ?

(@) 1,2and3
(b) 1,3and4
(¢ 1,2and4
(d 2,3and4

Given that the angles of a polygon are all
equal and each angle is a right angle.

The polygon has exactly four
sides.

Statement-1 :

Statement-2 : The sum of the angles of a
polygon having n sides is
(3n — 8) right angles.

Which one of the following is correct in respect

of the above statements ?

(a) Both Statement-1 and Statement-2 are
true and Statement-2 is the correct
explanation of Statement-1

Both Statement-1 and Statement-2 are
true but Statement-2 is not the correct
explanation of Statement-1

Statement-1 is true but Statement-2 is
false

(b)

(c)

Statement-1 is false but Statement-2 is
true

(d)

If the length of a side of a square is increased
by 8 cm, its area increases by 120 square cm.
What is the length of a side of the square ?

(a) 25cm
(b) 35cm
(c) 45cm
(d) 55cm
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76.

1.

78.

79.

SPSS-T-XHI

(a)

16cm?iar§aﬁfﬁmalﬁ%£ﬁqﬁa‘ﬁﬁwaﬁ
% nea-fogatt @1 faguy @

(a) 8 cm B2 &1 U TH4I g

(b) IGCmmW@ﬁaﬁﬁaﬂ

(¢c) 9 bl N

(d) IO & Hg H TR Il Th & W@l

UH HE-GeT WF B A TREE &ABA 176 m?

2 3R 39 YR F1 AH 140cm% ISTEBEﬁ.

FAE RIB? -

(a) 10cm

(b) 10V2cm
(¢ 204/2cm
@ 1015em

frafafaa Homt = fo=m Fifsm

1. UH Be # a9 &5 g 38 Biye %
37U A Bl @ |

2. U B W1 s wAw 39 B % eie
& B g |

3. U Guhiv BIYS 1 & s 39 B W
feoq gran 2 |

4. UH guH GYS *1 Fod 39 GYE W
e g 2 |

IHF § G BH-A HYH TE E 2

13 2

13T 4

2 3TN 3

2 34

(b)
(c)
(d)

31 wfaesdt Tarsti 8§ w9W gl W foua fag
fogmar @

(a) TH A @I

(b) TH A

(c) WA @Il &l Uh JH

(d) IugFd | ¥ B AH

80.

81.

82.

frafafaa wuat w famm hifs

21 Frqw wafmaw 2 9 8, 99

1. U P % fi wo g Bys % @
7 o % SRR E

2. ﬁ*gasﬁeﬂ'«rmqyiﬁ‘gaﬁw

| aﬁqngﬁmw@u

3. U B i @y 3R I HaTa i
Tt e 1 w @ genst IR I
AT IV b TS A |

4. TH BYS T RO AW S A A
get BIs % A a1 H0 qA 396 HaAa
YT & R & |

e HUAl § ¥ HH-H TEl 8 2

1,233

1,33M 4

(© 1,23R4

@ 2,334

%mw%%ww%mﬁww%

3 YT IV Ush THHIU B | '

FYF-1: TGS H1 31 AR YA 8 |

HIT-2 : ngmaﬁméag‘ga%aﬁvﬁm

NS (3n — 8) THHIV BT B |

suded Al o ey ¥, frefafea 8 @ wR-

I

(a) HUA-1 3N HYF-2 AT & 7, AT HH-2,
FeH-1 hH gE =T 7

(b) HYA-1 I FIA-2 AT FE F, Al
HUH-2, HUYF-1 I UL AT T8I B

(¢) “hU4-19El 8, ifehd HUA-2 Terd &

(d) HYF-17Terd B, Afehd HoH-2 TE B

aﬁ@ﬁﬁ%ﬁﬁéScma@?ﬁm,

AT IERT EABE 120 cm? F¢ QT | W HT A

EORSCICER I

(a) 2:5cm

(a)
(b)

(b) 35em
(¢) 45cm
(d) 55em
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83.

84.

85.

86.

What is the largest power of 10 that divides
the product 1x2x3x4...x23x24x25?
(a) 2

(b) 4

(¢). .5

(d)

None of the above

Walls (excluding their roofs and floors) of 5
identical rooms having length, breadth and
height 6 m, 4 m and 2-5 m respectively are to

be painted. Paints are available only in cans
of 1 L and one litre of paint can be used for

painting 20 square metres. What is the|"

number of cans required for painting ?

(a) 10

(b) 12
(c) =13
d 14

A rectangular pathway having width 45 m
and length 10 m will have to be tiled using
square tiles of side 50 cm. Each packet of such
tiles contains 20 pieces and costs ¥ 100. What
will be the total cost of tiles for the pathway ?

(a) ¥ 1,200
(b) ¥ 1,100
(¢) ¥ 1,000
(d ¥ 900

A cube of maximum volume (each corner
touching the surface from inside) is cut from a

~sphere. What is the ratio of the volume of the

cube to that of the sphere ?

(a) 3:4n
b V3:2n
(© 2:+3n
(d 4:3n

. SPSS-T-XHI

87.

88.

If the ratio of the circumference of the base of
a right circular cone of radius r to its height is
3 : 1, then what is the area of the curved
surface of the cone ?

(a) 3mr?
b) 27rr2,/4n2 +9
3
2 2
1
© nreyne +
3
@ 7rr2\14n2+9
3

A wire is in the form of a circle of radius
98 cm. A square is formed out of the wire.
What is the length of a side of the square ?
(Use nt = 22/7)

(a) 146 cm
(b) 152 cm
(¢) 154cm
(d) 156 cm

Consider the following for the next two (02)
questions : '

89.

90.

(26-A)
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In a triangle ABC, a, b and c are the lengths of
the sides and p, q and r are the lengths of its
medians.

Which one of the following is correct ?

(@ 2(@E+q+r)=(a+b+c)

(b) 2(p+q+r)>3(a+b+c)
(¢ 2(p+q+1r)<3(a+b+c)
(d) 11(p+q+r)>10(a+b+c)

Which one of the following is correct ?

(a) (a+b+c)<(p+q+1)

(b) 3(a+b+c)<4(p+q+1)
(¢ 2(a+b+c)>3(p+q+r1)
(d 3(a+b+c)>4(p+q+r1)




83.

85.

86.

SPSS-T-XHI

10 <1 3Tfoshad =Td F1 8 S U
1x2x3x4..x23x 24 x 25! faufaa
27

(a) 2

(b) 4

(¢ b

(d) STF H § HIg TRl

T I 5 FH A dant (il wa qun vt w5
Sigwt) B e, =R aw SR FHE
6m,4m3N 25m?, WU R Im1 8 | U
Fad 1ot & fesall § Iuetey B 3w i
YZ T UM 20 9 HIX w TH B fREr S
Fhal & | U HH & fau staws e H
&I 18 ?

(a) 10

(b) 12

(¢) 13

d 14

T ITRATHR AT SEeht ST 4-5 m 3R a8
10m 8, ¥ 50 cm YT % TIHR 5 ATH & |
TH IT3Al o TS Johe H 20 AT & 3 3hH
#md T 1007 | A1 % fow et B Fo Himd
=1 Bt ?

(a) ¥ 1,200

(b) T 1,100

(¢) ¥ 1,000

d T 900

Th M ¥ Afeehan AFad &1 Th o1 (Frgemn
YA HHT 3 A Mol H Hag I T Hal
B) HET T ® | U9 9T M % STRGHT i
JAUTA 1 8 ?

(a) 3:4n

(b) 3:2n

(c) 2: J3n

(d) 4:3=n

Vacancies and updates on one click

87.

88.

Al B ¢ % T eI W o SAER
uftfer e Seeht e W1 U 3: 138, df AP
% 36 Y55 T &S FT 8 2

(a) 3mr?

22 4n? 4+ 9
(b)_’“L_“_:_

(c)

@ m'z\//-lnz +9

T a1, 98 cm h! F3591 & 00 & 6N &1 2 |
39 AR | TH 1 SR T R | T h TH S
# TS F R ? (n = 22/7 T AN Hifo)

(a) 146 cm

(b) 152 cm
() 154 cm
(d) 156 cm

TS @ (02) T F forr Aefafaa e faemw
FHfm:

89.

90.

% BIS ABC H, a, b 3R ¢ Yal1efi i orergal 8
@Tp,qﬁ?rmmﬁﬁmﬁgl

freafafea # @ S g 2 2
(a) 2(p+q+r)=(a+b+c)
(b) 2(p+q+r)>3(a+b+c)
(¢) 2(p+q+r)<3(a+b+c)

(d 11(p+q+r)>10(a+b+c)

frafafd & & S adt 2 2
(a)
(b)
(¢) 2(@a+b+c¢)>3(p+q+r1)
(d)

(a+b+c)<(p+q+71)

3(a+b+c)<4d(p+q+1)

3(a+b+c)>4(p+q+r)
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91. What is the area of the largest circular disc |94,

cut from a square of side 2 units ?

2 T

(a) msquare units

(b) 1square unit

(¢) 72 square units

(d) 2 square units

95.

92. The product of the lengths of the diagonals of

a square is 50 square units. What is the length

of a side of the square ?

(a) 542 units

(b) 5 units

(¢) 10 units

(d 25 units 96.
93. The surface area of a closed cylindrical box is

3562 square cm. If its height is 10 cm, then

what is its diameter ? (Use n = 372— )

(a) 4cm

(b) 8cm

(¢) 912cm

(d 1926 cm
SPSS-T-XHI (28-A)

A square and an equilateral triangle have the
same perimeter. If the diagonal of the square
is 642 cm, then what is the area of the
triangle ?

(@ 1242 cm?

(®) 123 cm?

() 16 V2 cm?

(d) 16+/3 cm?

What is the area of the region bounded
internally by a square of side of length ‘a’ and
externally by a circle passing through the four

corners of the square ?
(@) (n—1)a?square units

(n—1)a2

(b) 5

square units

(¢) (n-—2)a?square units

2
(d) (7:_22)L square units

In the figure given below, XA and XB are two
tangents to a circle. If £ AXB = 50° and AC is
parallel to XB, then what is £ ACB equal to ?

‘ ,
CcK)
\ 2
B
@ 70°
(b) 65°
(e) 60°
@ 55°
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91. gm%mé%aﬁﬁ@wémmmé% T o 3R wH wHeTg B # aiE e
4 %lqﬁaﬁaﬂﬁlﬂﬁﬁ cm%,?ﬁﬁ'ﬁfﬁﬂ

Tod §3 et fTh 1 Sk w1 B 2 ——
(a) n 1 TS (a) 122 cm?
(b) la-rfgam-g (b) 123 cm?
(c) n2af SIS @ 1642 cm’

(d 1643 cm?
(@ 2 3hrS
95. 3T &F BT AR F1 g S F F TS ‘@’ Hi

o a1 I & ufterg o WTE & 39 ot F
0. w3 Frwil B A A e so | 0 PO A I A g H g R 2

. 1) 52
T I S I . P i
(b) (r—1a’ it hrs

2
52
- s (© (n—2) a2 gh1g
(b) 5335|g @) (TE—2)32 a_rfsaﬂ_g
2

(© 10F&TE

96. = for M fom #, XA 3R XB @k qw H @
@ 245 38 wyi@nd § | 9fe £ AXB = 50° 3R AC, XBF
TR B, @ ~ ACB forass stex & 2

A
93. UH g SHIHR 9o 1 TS 8%l 352 i C
Fier | af2 39t F91E 10 em B, A 3T C>x
amw%?(m?mmﬁﬁm)
- |

(a) 4cm
70°
() 8ecm Al
(b) 65°
(¢) 912cm ©  60°
(d) 1926 cm (d) 55°
SPSS-T-XHI (29-A)
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97. In the figure given below, p, q, r are parallel | 99.
lines; [ and m are two transversals.
l m
< A 2 > P
< B 2 >q
= Cj i” >t
Consider the following :
1. AB: AC =DE : DF
2. AB x EF = BC x DE
Which of the above is/are correct ?
(a) 1lonly
(b) 2only
(c) Both1and?2
(d) Neither 1 nor 2
98. In the equilateral triangle ABC given below, 100.
AD = DB and AE = EC. If [ is the length of a
side of the triangle, then what is the area of
the shaded region ?
A
D, E
B C
3.3 12
(a)
16
312
b 2
(b) 16
343 12
(c)
32
312
d B
() 32
SPSS-T-XHI (30-A)

In the figure given below, SPT is a tangent to
the circle at P and O is the centre of the circle.
If £ QPT = a, then what is £ POQ equal to ?

0)
Q
< £ >
S 3 T

(a) «

(b) 2a

() 90°-a
(d 180°-2a

In the figure given below, two equal chords cut
at point P. If AB = CD = 10 cm, OC = 13 cm
(O is the centre of the circle) and PB = 3 cm,
then what is the length of OP ?

5cm

(a)

6 cm

ZJ%cm

(b)
(c)

(d 237 cem
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97. d= fow M fum #, p, g, r THIR W@ F |
.1 I ma fodead e § |

! m
I
T
freferfaa w fomm Hifsw

1. AB:AC=DE:DF
2. AB x EF = BC x DE
I # A wH-E/E wE B/E
(a) had 1

(b) e 2

(¢ 13 23m

(d T 1LITE2

:ﬁ%ﬁqﬁqmﬁﬁ‘gﬁmcﬁ,wﬂmaﬂt
AE = EC 2 | 3¢ fiyyst it wsh 3= Y &S/

?, 1 SHfehd & 1 &% 91 8 ?
A

98.

B

(a)

(b)

(c)

(d)

SPSS-T-XHI

99. ﬁﬁqmﬁaﬁ, SPT, P W g ! Tqii@r B
AR OFA & Hg 8 | I LQPT = o &, @
£ POQ forass st=R 8 2

mA
b 2

(a) «

(b) 2a

() 90°-a
(d) 180°-2a

100. 1= fou mq fax #, q sU Sferd fog P W
et § | I AB = CD = 10 em, OC = 13 ecm
(39 ®1 %% forg 0 2) 3 PB =3 cem B, @
OP &l ST 1 & ?

AC

= >

B

5 cm

6 cm

2@cm
2\/3_70m
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SPACE FOR ROUGH WORK
e M & fore STE

(32-A)
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SPACE FOR ROUGH WORK
we W & forg T

SPSS-T-XHI (33-A)

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



SPACE FOR ROUGH WORK
H HIA & foru srg
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SPACE FOR ROUGH WORK
H T & foru s g
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A A% HTIH T THLTT GIAHT WieT &t 7 HgT AT 77 ad 7 @it

A. . . : SPSS-T-XHI ' uiteror gfeaent sigwa

T18TuT gieaeht
YR T

A7 : 3t gve gorfes : 100

Q@

g
qHeT I 2 6 1, T 39 Tteror gieaent H ugare srava F o fob seH wrg fam v,
tﬁamt{aganqsam;wm anfe T g Iﬂﬁ@%,?ﬁsﬁaﬁuﬁwgﬁwﬁmml
Foa oA @ 6 OMR sw-wwe #, 3 Tum W, e TR il aderor gitre
@E) A, B, C 1 D &I, &4 & wa o et = mﬁwﬁ%ﬁﬁaﬁimwﬁ ﬁrcﬂ'c:r&
Ieflear H ¢ | ﬁwﬁvﬁwﬁw/ﬁvﬂﬁf ﬁf@rﬁfﬁmmﬁmmﬁmml
39 gl gitae WAy # fou T Hses § el e
IR uT for@ T } | wdier gfeaes | ot g T ford |
38 whgw gfees § 100 SeA () g ¥ | v v feedt ofv oirsft Gl oW R | e
T # 91 T (SW) fGu e | 3 A U TgW B gH o, T e ST WSt we
=Ted & | afg oot vEn o 6 o @ srfre SR wa g, 1 3T TR B 3ied B S SR waTH
T | TEF TN % T Fae7 0 g TR TR |
e 19 Gt T 3terT A U Y Se-we W g7 eifthd i € | STws # fou e e gfem |
@Y I % 3H THH 7 |
wﬁ%ﬁ%mvﬁmg@m%%ﬁamﬁ%mwmmaﬁmmwaﬁ JATIHT T
mﬁ%mﬁﬁaaﬁéﬁ%mg@rmwmﬁiﬁél
AT A Tt [ ) IWITH § W F 91e 91 GO % GHNH W FdeT IH-TAF AHES H
T & | TR A9 A1 T GiEde o S 6 AT # |
%= % h 1T w3 qdieor gferert % 37d ®§ g 7 |
T I o foru que
TS Ty-gal # Iufiear g A e et s o forg que feen s |
() ¥ WA ¥ T 9R Jfcus I § | Inficar g usie 99 % foe i U uw e W % ey
?q e fopu o 3t o1 wh-foeTE gve & w9 # e smom |
(i) If 1 Ioficar o § fe I T B, @ W Tera IW A S, FUi oy v Il # ¥ U W
TE g B, TR ot 38 w97 & fog SwiwgER & 34 9@ @1 qvs feun s |
(iii) R IiCER g H13 T &G T8I RhAT S 2, At IFHieaR grr IR AL I S R, @ 39w &
fore =i gue 7@ fean smem |

5 A HTTH T T Gt @Wieid &1 7 FgT AT aa a7 Giet

Note : English version of the instructions is printed on the front cover of this Booklet.
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